VCE & PDF https://www.passapply.com/1z0-468.html
2024 Latest passapply 120-468 PDF and VCE dumps Download

PassApply.com

170-4689%As

Oracle Cloud Application Foundation Essentials

Pass Oracle 1Z0-468 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-468.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-468 Dumps | 120-468 PDF Dumps | 120-468 VCE Dumps 1/3


https://www.passapply.com/1z0-468.html
https://www.passapply.com/1z0-468.html
https://www.passapply.com/1z0-468.html

VCE & PDF https://www.passapply.com/1z0-468.html
2024 Latest passapply 120-468 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Which three generational spaces make up the HotStop heap? (Choose three.)
A. Young Generation

B. Internal Generation

C. Old Generation

D. Permanent Generation

E. Persistent Generation

Correct Answer: ACD

QUESTION 2

Which three metrics are commonly used to evaluate garbage collector performance? (Choose three.)
A. Throughput

B. Pause time

C. Method area

D. Native threads

E. Heap size

Correct Answer: ABE

http://www.oracle.com/technetwork/java/javase/tech/memorymanagement-whitepaper-1- 150020.pdf(page 5,
performance metrics)

QUESTION 3

After going through a sizing exercise, you determine that your application will need 100 storage-enabled JVMs with 4
GB heaps. You have 10 physical machines with 16 cores and 32 GB of RAM.

Which performance-tuning best practice would be violated by deploying your application on these machines?
A. Heap sizes should not be larger than 512 MB.

B. OS socket buffers should be at least 2 MB.

C. Avoid OS memory swapping/paging by not exhausting physical RAM.

D. Do not exceed one JVM per core.

Correct Answer: B
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QUESTION 4

Which action do you take when deploying Oracle HTTP Server to ensure all client communications within OHS are
confidential?

A. Deploy OHS in A DMZ.

B. Configure all OHS Listeners to use SSL.

C. Nothing; all client communications are confidential.
D. This configuration is not possible.

E. Use a network firewall.

Correct Answer: B

QUESTION 5
What could cause an AddTargetUser operation to fall with a 401 or a 403 error?
A. Virtual Assembly Builder Deployer application is down.

B. The user whose credentials were used to connect to Virtual Assembly Deployer has not been granted the Cloud
Admin role.

C. A connection between Virtual Assembly Builder Deployer and oracle VM Manager resource pool has not been
configured.

D. The Oracle VM Manager Admin user, whose credentials were used in the createTarget operation, has not been
granted the Application Admin role.

Correct Answer: B
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